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SODIUM THIOSULFATE,0.025N,4LITRE W2206

IODINE SOLUTION  .025N    1L W2251

Starch Solution, 4L W2121

Run Number: Constant: 16000

Parameter: SUPERVISOR REVIEW BY:

Analysis Method: ANALYST:

Analytical Summary Report

Normality1:

Normality2:

9034

LB90329
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1 PB102626BL 50 15:3009/26/20170.004.364.360.005.005.021 0.000.64

2 PB102626BS 50 15:3409/26/2017200.401.841.840.005.005.031250 2.523.16

3 I5388-01 50 15:3709/26/201731.753.965.801.845.005.041 0.401.04

4 I5388-01DUP 50 15:4009/26/201733.403.949.745.805.005.031 0.421.06

5 I5388-01MS 50 15:4309/26/2017151.092.462.460.005.005.031250 1.902.54

6 I5388-01MSD 50 15:4509/26/2017152.682.444.902.465.005.031250 1.922.56

7 I5391-01 50 15:4809/26/201761.903.583.580.005.005.041 0.781.42

8 I5396-01 50 15:5009/26/201734.853.927.503.585.005.051 0.441.08

9 I5396-02 50 15:5309/26/201760.323.603.600.005.005.041 0.761.40

10 I5396-03 50 15:5509/26/201762.033.587.183.605.005.031 0.781.42

11 I5396-04 50 15:5809/26/201741.273.843.840.005.005.041 0.521.16
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T2 Diff = T2 Final - T2 Initial

Result = ((T1 * Normality1) - ((T1 - Value Corrected With Blank) * Normality2)) * Constant / Initial Volume

Value Corrected With Blank = ((T1 - T2 Diff) - Blank Correction(BL))

T2 = Titrant2

T1 = Titrant1


